Dérivées et applications

1 Dérive :

a) 22 +5x—8 (R: 2z +5)

)

20 —4 —22% + 87 +2
b) x2+1( (2 4 1)2 )
c) 4z -3 (R:4)

d) —Sx +1(R: —162)
&) & (R: 2
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b x—l( :(x—1)2)
g) 456( - 4)
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i) 2x2—5x—|—7(R 4z — 5)
i) Ve+4z—1 (R %4—4)
K 1—-2x -1
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)
) 3sinx —2cosz (R : 3cosx + 2sinx)
) 24 2)(1-5z) (R:—9—10z)
o) (z* —1)2z +3) (R : 102* + 1223 — 2
) (z—2?)(3z) (R : 62 — 92?)
) 22cosx (R : 2z cosx — x?sinx)
r) sinzcosz (R : cos2x)
a3 2z* — 622
) o (R )
422 + 3z — 1 8z2 + 8z +5
) —oer1 B o)
) (23 —5z)(22% — 4) (R : 102* — 4222 + 20)
) 22+ 52 —2 (R : 2z +5)
w) 22(z +2) (R : 322 + 4x)
) 3z +4)% (R:6(3x+4))
) (
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(r —22)3 (R : 3(x — 22)2(1 — 27))
(2 —4z)3 (R : —12(2 — 42)?)
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2 Dérive encore :

4
cos? 4z
b) sin?(3z 4+ 2) (R : 6 -sin(3z + 2) - cos(3z + 2))

a) tandz (R :

. Exercices complémentaires



c) cos®(2z) (R : —6cos?(2x) sin(2x))
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e) \/?E(Rm)

22 — 4z (R :

T —2
2 —4x
6z — 322 (R : 6 — 6x)
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o z+3( 2\/m—|—3)
1 —2x
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22+1 0 @2+ 1)2
23 —22 -5 (R : 322 —2)
23 —z—-1R:32%2-1)
qQ 2> +3r+1 (R: 322+ 3)
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r) x —cosz (R: 1+ sinx)
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s) 2 —322—-97r+1 (R: 322 — 62 —9)
T —2?+1
x2 41 (R : (a:2+1)2)

22% — 32% (R : 823 — 62)
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3 Corrections

a)

car (f+9)' =f +g'.

(xQ)/ + (5%)/ _ 8/

(%) + (5z)' -8 = 2245-1-0
car
(%) = 2z
k-f) = k-f
¥ =1
K = 0.
20 +5-1-0 = 22+5.
Donc
(x> +52—8) = 2z+5.
b)
2c — 4’ (224 (@ +1) - (20— 4)- (@ + 1)
2 +1 (2 +1)2
car
N Fa-1td
g) 4
2z —4) - (®+1)— 2z —4)- (2 +1)  2-(2?4+1)—(2z—-4) -2z
CREE - CEE
En effet :
(2r —4) = (2z) —4
= 2-27-0
- 2.1
= 2
car
(f+9) = f'+d
(ke f) = k-
K = 0
x 1.

c) 4z —3 (R:4)
d) —82%+1 (R: —16z)

e) % (R: ;—32)
b x3—x1 (R (x :31)2)

g) 4z (R : 4)
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h)—g(Ri—g)
i)2x2—5m+7(R'4m—5)
) VE+ar =1 (R g )
K 1-2x -1

) 3x—1 (R (3m—1)2)

1) x+cosz (R:1—sinx)
m) 3sinz —2cosz (R : 3cosx + 2sinx)
n) (2+z)(1 —5z) (R: -9 —10z)
o) (z*—=1)(2z +3) (R: 102* + 1223 — 2
p) (z—2%)(32) (R : 6z —927)

q)

)

)~

z?cosz (R : 2z cosz — a2
r) sinzcosx (R : cos2z)

sin x)

a3 27* — 622
1( ' (x2—1)2)
da® + 3z — 1 8z 4+8x +5
) 2z +1 R: (2 4 1)2 )
) (23 —5z)(222 — 4) (R : 102* — 4222 + 20)
) 22+ 52 —2 (R : 2z +5)
w) 22(z +2) (R : 322 + 4x)
)
)
)

w0
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(
x) (3z+4)% (R:6(3x+4))
y) (z —2?)3 (R: 3(x — 22)%(1 — 22))
z) (2 —4x)3 (

R: —12(2 — 4x)?)



